B

20-7x-18=8 8.75x + 2 - 16 - 8.25x = -2
( D,
Bx + |6 + %x - 26 = 106 -2X +lUx +8=1l.6
E F
-2+gx+8-x=-lll q-45-.6x=93
G, H

-5+-=
Ex2lxl-l8

-18 + 5.5x - x-2=25




(1) )
-50+5x+|0+%x=-q -5-21x +8 =5l
o L)
-q-%x+5=|| -5X+2X +6-1=-]
® N
-&x-5+%x=-| 9+ qx +2- .2x = -28
0] P)
x-1x4+6-9:=7 12-36x-12:18




Unit: Linear Equatfions
Speed Dating — A

Work your expert problem below. Be sure you can explain your work! Then, work the ofther problems in the corresponding boxes.

Name
Date

Pd

MULTI-STEP EQUATIONS

EXPERT PROBLEM.

0

o
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SUMMARiZE WHAT YOU KNOW ABOUT SOLViN9 MULTi-STEP €E1UATiONS:
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Unit: Linear Equations Name _Answer Key

Speed Dating — A Date Pd

MULTI-STEP EQUATIONS

Work your expert problem below. Be sure you can explain your work! Then, work the ofther problems in the corresponding boxes.

EXPERT PROBLEM. o 0
X=-18 X=24

(] (]
x =20 X=3

(F (F ) (G (H]
X =-40 X=-8 Xx=-12 x=10
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X=8

x=-30

Xx=15

SUMMARiZE WHAT YOU KNOW ABOUT SOLViN9 MULTi-STEP €E1UATiONS:
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ix - €0) - 18 =

J5x - 20) - 12 = -2

” D

5x + £(2x - 25) = 106 X +.2(x +40) = 1.6
3

%@,x + q) - %x = -4 q-.305 + 2x) = 9.3
[

q- %(3x -16) = U8

1.5(3x -10)-5=25




%x +5(-8 + x) = -9 -8(.3x -1) - 5 = 5i
K '

-§(3x +18) +5:= I -5x + 5(Ux + 1) = -
M N

g+ %(x -2) = M9x - 70) - .2x = -28
0 P

I-|--=
2(§x3)‘17

12-1.2(3x +10) = 18




Unit: Linear Equatfions
Speed Dating — B

Work your expert problem below. Be sure you can explain your work! Then, work the ofther problems in the corresponding boxes.

Name
Date

Pd

MULTI-STEP EQUATIONS

EXPERT PROBLEM.
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SUMMARiZE WHAT YOU KNOW ABOUT SOLViN9 MULTi-STEP €E1UATiONS:
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Unit: Linear Equatfions
Speed Dating — B

Work your expert problem below. Be sure you can explain your work! Then, work the ofther problems in the corresponding boxes.

Name Answer Key

Date

Pd

MULTI-STEP EQUATIONS

EXPERT PROBLEM. B
Xx=-18 X =24

D
x =20 X=3

E H
X =-40 X=-8 Xx=-12 x=10
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X=8

x=-30

Xx=15

SUMMARiZE WHAT YOU KNOW ABOUT SOLViN9 MULTi-STEP €E1UATiONS:
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